Steno Grade Il [SHIFT - 1]

Exam Date : 05/09/2023

Question 1

Use only one word for underlined words:

Shalini is a person who always looks at the bright side of things.
Answer :

(A) iterate

(B) Optimist

(C) Pessimist

(D) Theist

Right Answer :
Optimist

Question 2
Lata wanted to hear ___ end of the novel.
Answer :

(A) No article

(D) the

Right Answer :
the

Question 3

Fill in the blank with appropriate “to be” form:
The students __ well mannered.

Answer :

(A) has

(B) are

(C) have

(D) was

Right Answer :
are

Question 4

Choose the correct determiner from the given options to fill in the blank.:
There are __ books in the library.

Answer :

(A) every
(B) a great deal of
(C) much

(D) a lot of
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Right Answer :
a lot of

Question 5
No sooner did he go in, __ she came out.
Answer :

(A) than

(B) then

(C) when

(D) and

Right Answer :
than

Question 6
The thief ran away __ he should be caught.
Answer :

(A) lest
(B) but
(C) unless

(D) otherwise

Right Answer :
lest

Question 7

Choose the appropriate voice.:
The paintings by Bhargavi.
Answer :

(A) has been draw

(B) have been drawing

(C) have been drawn

(D) had drawn

Right Answer :
have been drawn

Question 8
Choose the meaning of the Underlined idiom used in the given sentence:

If you are doing the same thing again & again it will become a piece of cake.

Answer :

(A) very easy

(B) boring work

(C) delicious taste

(D) difficult to understand

Right Option Id : 30004
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Right Answer :
very easy

Question 9

Choose the most appropriate reported form of speech.:
The Master said to the servant “Get out.”

Answer :

(A) The Master told that go outside.

(B) The Master ordered the servant to get out.

(C) The Master said the servant to get out.

(D) The Master asked the servant to get out.

Right Answer :
The Master ordered the servant to get out.

Question 10

Choose the correct preposition to complete the sentence:

" where did you buy this dress?”
Answer :

(A) For

(B) From

(C) of

(D) On

Right Answer :
From

Question 11
Choose the correctly spelt word :
Answer :

(A) Refrigerator

(B) Refridgerator

(C) Reffrigeretor

(D) Refridgerattor

Right Answer :
Refrigerator

Right Option Id : 34001

Question Id :

Option Id

35001
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35003
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Right Option Id : 35002
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Question 13

The nearest word that expresses the meaning of PLACID.

Answer :

(A) clear

(B) enjoyable

(C) dull

(D) calm

Right Answer :
calm

Question 14

Select the word that is used for the ‘Study of mankind'.

Answer :

(A) Physiology

(B) Pathology

(C) Anatomy

(D) Anthropology

Right Answer :
Anthropology

Question 15
Change into passive voice:

‘My uncle promised me a present.

Answer :

(A) | was promised a present by my uncle.

(B) I was promised by my uncle a present.

(C) I had been promised a present by my uncle.

(D) A present was promised by my uncle to me.

Right Answer :

| was promised a present by my uncle.

Question 16

Fill in the blank with suitable preposition:
My mother has been teaching in this college ___ the last fifteen years.

Answer :

(A) from

(B) since

Q) in

(D) for

Right Answer :
for

Question 17
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Question Id :

Option Id

40001
40002
40003

40004

Right Option Id : 40004
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Which prefix would be attached to counter?

Answer : Option Id

@) Un 43001

®n 43002

(©lm 43003

(D) En 43004

Right Answer : Right Option Id : 43004

En

Question 18 Question Id :

Change the following simple sentence to the most appropriate compound sentence:
Besides being rude, he was also arrogant.

Answer : Option Id
(A) He was rude and arrogant. 44001
(B) He was not only rude but also arrogant. 24002
(C) He was not only arrogant but also rude. 24003
(D) He was being rude and arrogant. 24004
Right Answer : Right Option Id : 44002
He was not only rude but also arrogant.
Question 19 Question Id :
Choose the correct option to fill in the blank.:
An airplane flies __ than bird.
Answer : Option Id
(A) more fast 45001
(B) faster 45002
(© fast 45003
(D) fastest 45004
Right Answer : Right Option Id : 45002
faster
Question 20 Question Id :
Choose the correct option:

your brother his account yet?
Answer : Option Id
(A) Has, cleared 46001
(B) Would, has cleared 46002
(C) Has, clearing 46003
(D) Is, cleared 26004
Right Answer : Right Option Id : 46001
Has, cleared
Question 21 Question Id :

Choose the correctly spelt word having the meaning “army officer”.
Answer : Option Id



(A) colonal
(B) cornel
(C) colonel

(D) corrnel

Right Answer :
colonel

Question 22

Identify the correct synonym of the underlined word:
Geeta looked at him suspiciously because of his behaviour.
Answer :

(A) Kindly

(B) Careful

(Q) Shy

(D) Doubtful

Right Answer :
Doubtful

Question 23

Choose the meaning of the Underlined idiom used in the given sentence:
Exam is around the corner so it would better hit the books tonight.”

Answer :
(A) to initiate

(B) to find out the books
(C) to study

(D) to arrange the books

Right Answer :
to study

Question 24

Choose the correct preposition to complete the sentence:
Ronak has rented a room ___ a shop.

Answer :

(A) on
(B) above
(C) between

(D) upon

Right Answer :

above

Question 25

Choose the correct option :

My mother tea for us when the school bus reached home.
Answer :

(A) was preparing
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47004

Right Option Id : 47003
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(B) prepare

(C) will prepare

(D) prepared

Right Answer :
was preparing

Question 26
Choose the most appropriate reported form of speech.:
The Science teacher said, “The earth is round”.

Answer :

(A) The Science teacher said that, “The earth is round”.
(B) The Science teacher said that the earth is round.
(C) The Science teacher is saying the earth is round.

(D) The Science teacher said that the earth was round.

Right Answer :
The Science teacher said that the earth is round.

Question 27

Choose the meaning of the Underlined idiom used in the given sentence.:
We have worked so hard still it is unfinished so let’s call it a day will come tomorrow and finish it.

Answer :
(A) to bid farewell

(B) to stop doing something
(C) to initiate something

(D) to confuse

Right Answer :
to stop doing something

Question 28

Choose the most appropriate reported form of speech.
She said, “How sweetly Devki sings!”

Answer :

(A) She exclaimed with appreciation that Devki sang very sweetly.
(B) She exclaimed with praising that Devki sung very sweetly.
(C) She asked Devki that she sings sweetly.

(D) She exclaimed Devki is singing very sweetly.

Right Answer :
She exclaimed with appreciation that Devki sang very sweetly.

Question 29

Identify the correct synonym of the underlined word :
Everyone was enjoying the party except Rosy.
Answer :

(A) exclude

(B) include

2002
2003

2004

Right Option Id : 2001
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(€) add

(D) remove

Right Answer :
exclude

Question 30

Choose the correct option which can be suffixed to the given word:

Which of the following has "-ant’ suffix?
Answer :
(A) coolant

(B) vibrant
(C) pant

(D) meant

Right Answer :
coolant

Question 31

Give antonym for the given word-
Adversity

Answer :

(A) calamity

(B) misfortune

(C) good fortune

(D) diversity

Right Answer :
good fortune

Question 32
Identify the antonym for the word: Conceal
Answer :

(A) Regain

(B) Reveal

(C) Rise

(D) Rare

Right Answer :
Reveal

Question 33

Choose the correct option:

The police said, "you ___follow the traffic rules".
Answer :

(A) may
(B) shall

(C) would

5002
5003

5004

Right Option Id : 5001
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(D) should

Right Answer :
should

Question 34

Choose the appropriate passive voice sentence.:
Rami is making chocolate.

Answer :

(A) Chocolate is being made by Rami.
(B) Chocolate has been made by Rami.
(C) Chocolate was being made by Rami.

(D) Chocolate is being make by Rami.

Right Answer :
Chocolate is being made by Rami.

Question 35
Identify the antonym for the word: Unique
Answer :

(A) Anonyms
(B) Special
(C) General

(D) Excellent

Right Answer :
General

Question 36
Choose the correct synonym: “consequence”
Answer :

(A) aware

(B) certain

(C) outcome

(D) contemplate

Right Answer :
outcome

Question 37
Which sentence is in the interrogative form?

Answer :

(A) The movie was very entertaining.

(B) She went to the store and bought some milk.

(C) What time is the meeting?

(D) He ran three miles this morning.

9004

Right Option Id : 9004
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Option Id

10001
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10003

10004

Right Option Id : 10001
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Right Option Id : 11003
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Right Answer :
What time is the meeting?

Question 38
Choose the wrongly spelt word.
Answer :

(A) Semester

(B) Senesent

(C) Sensory

(D) Salacious

Right Answer :
Senesent

Question 39
Complete the following sentence.:

Despite of his best efforts to conceal his anger, ___.

Answer :

(A) we could detect that he was very happy.
(B) he failed to give us an impression of his agony.
(C) he succeeded in camouflaging his emotions.

(D) people came to know that he was annoyed.

Right Answer :
people came to know that he was annoyed.

Question 40

Put appropriate article:

This road leads to__ Mumbai.
Answer :

(C) the

(D) No article

Right Answer :
No article

Question 41

Choose the correct option:
They
Answer :

(A) have been building, have not finished

(B) has build, had finish

(C) were building, have finished

(D) have built, have not finished

Right Answer :
have been building, have not finished

(build) that bridge for a year but they (finish) it yet.

Right Option Id : 13003
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Right Option Id : 17001

14

15

16

17



Question 42
Choose the correctly spelt word.

Answer :

(A) Acquaintence
(B) Acquantance
(C) Acquaintance

(D) Acquentence

Right Answer :

Acquaintance

Question 43
Which sentence is a simple sentence?
Answer :

(A) The dog barked and the cat ran away.

(B) The sun is shining and the birds are singing.

(C) I walked to the store and bought some milk.

(D) She loves to read books.

Right Answer :
She loves to read books.

Question 44

Which of the following is an example of a comparative adjective?

Answer :
(A) Good

(B) Bad

(C) Better

(D) Best

Right Answer :
Better

Question 45

Which of the following is an example of a conjunction?

Answer :

(A) of

(B) because

(C) beautiful

(D) Thus

Right Answer :
because

Question 46
Select the correctly punctuated sentence.

Question Id :

Option Id

18001
18002
18003

18004

Right Option Id : 18003

Question Id :

Option Id

19001
19002
19003

19004

Right Option Id : 19004

Question Id :
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Right Option Id : 20003
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Right Option Id : 21002
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Answer :

(A) What would you like to have for the breakfast!

(B) What would you like to have for the breakfast:

(C) What would you like to have for the breakfast.

(D) What would you like to have for the breakfast?

Right Answer :
What would you like to have for the breakfast?

Question 47
“War and Peace” is a book ___ by Tolstoy.
Answer :

(A) write

(B) written

(C) wrote

(D) writing

Right Answer :
written

Question 48
Which sentence is an imperative sentence?
Answer :

(A) | think we should go to the beach.
(B) Please turn off the lights when you leave.
(C) He is reading a book about history.

(D) They played basketball in the gym.

Right Answer :
Please turn off the lights when you leave.

Question 49

Choose the correct option:

I think he ____ fever and he is shivering.
Answer :

(A) had
(B) have
(C) has

(D) has been having

Right Answer :
has

Question 50
Choose the correct option:
My brother ___to England last week.

Answer :
(A) flew
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Right Option Id : 22004
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(B) flow

50002
fl
©fy 50003
fl
() flaw 50004
Right Answer : Right Option Id : 50001
flew
SECTION 2
Question 51 Question Id :
Complete the Sequence by choosing correct answer.
18, 28, 40, 54, 70, ?
Answer : Option Id
79
@ 53001
88
® 53002
93
© 53003
7
@9 53004
Right Answer : Right Option Id : 53002
88
Question 52 Question Id :
Complete the Sequence by choosing correct answer.
CUP:LIP::BIRD:?
Answer : Option Id
(A) BUSH 71001
(B) GRASS 71002
FOREST
© 71003
(D) BEAK 71004
Right Answer : Right Option Id : 71004
BEAK
Question 53 Question Id :
Read the definition and all four choices carefully, and find the answer that provides the best example of the given definition.
Reentry occurs when a person leaves his or her social system for a period of time and then returns.
Which situation below best describes Reentry ?
Answer : Option Id
(A) When he is offered a better paying position, Harish leaves the restaurant he manages to manage a new restaurant on the 68001
other side of town.
(B) Ashok is spending his junior year of college studying abroad in U.S.A. 68002
(C) Pawan is readjusting to civilian life after two years of overseas military service. 68003
(D) After several miserable months, Mahesh decides that he can no longer share an apartment with his roommate Kaushik. 68004
Right Answer : Right Option Id : 68003
Pawan is readjusting to civilian life after two years of overseas military
service.
Question 54 Question Id :

Complete the Sequence by choosing correct answer.
FAG, GAF, HAI, IAH, ___

Answer : Option Id

53

71

68

69



(A) JAK

69001
(B) HAL 69002
(C) HAK 69003
(0 Al 69004
Right Answer : Right Option Id : 69001
JAK
Question 55 Question Id :

The school principal has received complaints from parents about bullying in the schoolyard during recess. He wants to investigate and end this situation
as soon as possible, so he has asked the recess aides to watch closely.
Which situation should the recess aides report to the principal?

Answer : Option Id

(A) A girl is sitting glumly on a bench reading a book and not interacting with her peers. 70001

(B) Four girls are surrounding another girl and seem to have possession of her backpack 70002

(C) Two boys are playing a one-on-one game of basketball and are arguing over the last basket scored 70003
N f th

(D) None of these 70004

Right Answer : Right Option Id : 70002

Four girls are surrounding another girl and seem to have possession of her

backpack

Question 56 Question Id :

At 8:45, angle formed between the hour hand and the minute hand of a clock is,
Answer : Option Id

(A) 10 2 degree

66001

1

(B) 9 V2 degree 66002
1

(C) 7 Y2 degree 66003
1

(D) 8 V2 degree 66004

Right Answer : Right Option Id : 66003

7 V2 degree

Question 57 Question Id :

Here are some words translated from an artificial language.

1. gorblflur means fan belt

2. pixngorbl means ceiling fan

3. arthtusl means tile roof

Which word could mean “ ceiling tile “ ?

Answer : Option Id

(A) gorbltusl

72001
(B) flurgorbl 72002
(C) pixnarth 72003
(D) None of these 72004
Right Answer : Right Option Id : 72003
pixnarth
Question 58 Question Id :

If in certain language ACTIVE is coded as EDUJWA, how is EFFECT coded in that code?

70

66

72

73



Answer : Option Id
(A) TGGFDE

73001
(B) EFFTEC 73002
(C) TCEFFE 73003
(D) EOFGTG 73004
Right Answer : Right Option Id : 73001
TGGFDE
Question 59 Question Id : 74
Select a suitable figure from the four alternatives that would complete the figure matrix.

QP> ?
(1) (2) (3) (a)
Answer : Option Id
wo 74001
®®@ 74002
©& 74003
Oy @ 74004
Right Answer : Right Option Id : 74001
m
Question 60 Question Id : 75
Select a suitable figure from the four alternatives that would complete the figure matrix.
?
(1) (2) ((3) (@

Answer : Option Id
(A) (M 75001
(B) (2 75002
©e 75003
(D) (4)

75004



Right Answer : Right Option Id : 75002
)

Question 61 Question Id : 67
Choose the correct water-image of the figure from responses given below:

Question Figure: Answer Figures :

ugaﬂq;ﬁ: fﬁﬂ'&ﬂﬁm:

R

m @ 3) (4)

Answer : Option Id
wo 67001

(8) ) 67002
(OXE) 67003

Oy @ 67004
Right Answer : Right Option Id : 67003

3)

Question 62 Question Id : 65

Select the mirror image of the given figure when the mirror is placed at the right side.

B

Answer : Option Id
® 65001
® 65002
© 65003
)

65004




Right Answer : Right Option Id : 65004

Question 63 Question Id : 52
The teachers of a school want to hold an essay competition. The topic of the essay has to be such that it resonates with the current affairs going around in
the country. At the same time, they want to highlight the issues facing the environment. Which of the following topics is suitable for the test?

Answer : Option Id

(A) Upcoming elections and their expected results

52001
Inf tion technol d its benefit:
(B) Information technology and its benefits 52002
N f t poli t
(C) New forest policy ac 52003
Panchayat electi d f i
(D) Panchayat elections and farmer issues 52004
Right Answer : Right Option Id : 52003
New forest policy act
Question 64 Question Id : 63
The figure represents three classes of youth in a village. How many educated youth are poor?
Educated
Employed
[GLIEG]
Poor TG
Answer : Option Id
1
* 63001
14
® 63002
9
© 63003
6
® 63004
Right Answer : Right Option Id : 63002
14
Question 65 Question Id : 62
Read the following Question and given two Statements and choose the Correct option which is sufficient to answer the question:
Question: How much was the total sale of the company ?
Statements: |. The company sold 8000 units of product Z, each costing Rs. 25.
11. This company has no other product line.
Answer : Option Id
(A) Statement | alone is sufficient while Statement Il alone is not sufficient 62001
(B) Statement Il alone is sufficient while Statement | alone is not sufficient 62002
Eith, is suffici
(C) Either Statement | or Statement Il is sufficient 62003
Both Stat t | and Stat t 1l fficient
(D) Bo atement | and Statement Il are sufficien 62004
Right Answer : Right Option Id : 62004

Both Statement | and Statement Il are sufficient



Question 66 Question Id :

Choose the correct response from the following options.

Statements: Life means stresses and strains. Stresses and strains have an adverse effect on life.
Conclusion I: Life is not worth living

Conclusion II: One should avoid stresses and strains in life.

Answer : Option Id
i f h
(A) Only conclusion | follows the statements 61001
i fi h
(B) Only conclusion Il follows the statements 61002
(C) All the conclusions follow the statements 61003
(D) None of these conclusions follows the statements 61004
Right Answer : Right Option Id : 61002
Only conclusion Il follows the statements
Question 67 Question Id :

In a family, there are husband-wife, two sons and two daughters. All the ladies were invited to a dinner. Both sons went out to play. Husband did not
return from the office. Who was at home?

Answer : Option Id
(A) Only wife was at home 60001
(B) Nobody was at home 60002
(C) Only sons were at home 60003
(D) All ladies were at home 60004
Right Answer : Right Option Id : 60002
Nobody was at home

Question 68 Question Id :

In a family of five persons, Dinesh is Joy’s son and Ganesh'’s brother. Maya is Ganesh’s mother and Juli’s daughter. If there are no step brothers in the
family, Which of the statements below is definitely true?

Answer : Option Id
(A) Juli is Dinesh’s mother-in-law 64001
(B) Maya is Dinesh’s mother 64002
(C) Juli is Joy's grandmother 64003
(D) Joy is brother of Ganesh 64004
Right Answer : Right Option Id : 64002
Maya is Dinesh’s mother

Question 69 Question Id :

Which answer figure will continue the same series as established by the problem figures?

Problem figures;

) |t ) e
| C C

61

60

64

59



Answer : Option Id
(A1

59001
®2 59002
©3 59003
©4 59004
Right Answer : Right Option Id : 59002
2
Question 70 Question Id :

In the following question, a key figure marked (X) is given, followed by four other alternative figures marked (1), (2), (3) and (4). It is required to select one
figure from the alternatives, which fits exactly into figure (X) to form a complete square.
Select a figure from the given four alternatives which fits exactly into Figure-X to form a complete square.

@&ﬂww

(1) (2) (3) (4)

Answer : Option Id

(A) (M 58001

(B) (2) 58002

©e 58003

® @ 58004

Right Answer : Right Option Id : 58004

4

Question 71 Question Id :

If a paper (Transparent Sheet) is folded in a manner and a design or pattern is drawn, when unfolded, this paper appears as given below in the answer
figure.

Choose the correct answer figure:

Question Figure: Uﬂﬁﬁﬁfﬁf %

O (| [ [ax

Y [ D) (D

(@ (b) () ()
Answer : Option Id
W@ 57001
(B) (b) 57002
(OXC] 57003
(D) (d) 57004
Right Answer : Right Option Id : 57004

(d)

Question 72 Question Id :

58

57

56



Which of the following answer figures marked as option (A), (B), (C) and (D) satisfies the same condition of placement of dots as in the Question Figure?

Answer :
(A)

(B)
; \..;
©
S
(D)
/"_\.

Right Answer :

4ns

Question 73

Option Id
56001

56002

56003

56004

Right Option Id : 56002

Question Id : 55

If "K" denotes "multiplied by", "M" denotes "subtracted from", "J"* denotes "added to" and "L" denotes "divided by", then 44 M 24 K56 L 14 J 60 = ?

Answer :

A 15

(D) 72

Right Answer :
8

Question 74

Option Id

55001
55002
55003

55004

Right Option Id : 55002

Question Id : 54

Direction: For the following question, four probable answers have been given. Select the most appropriate alternative as the answer.

You have gone to enjoy a Diwali Mela organised by a club. Suddenly you come across a lost child crying desperately. You would



Answer : Option Id

(A) neglect and walk away

54001
(B) ask the child to find his parents 54002
(C) ask him to stop crying and wait patiently for his parents 54003
(D) contact with the club authorities and make an announcement for the parents 54004
Right Answer : Right Option Id : 54004
contact with the club authorities and make an announcement for the
parents
Question 75 Question Id :
Select the answer figure in which the question figure is hidden/ embedded.

Question Figure: Answer Figures:
sl HIf: ez el
O] () ©) (4)
Answer : Option Id
(A) (M 51001
(B) (2 51002
e 51003
©) @ 51004
Right Answer : Right Option Id : 51002
2
SECTION 2

Question 76 Question Id :

Who among the following has handed over a cheque of 1 million $ to Melissa Fleming, Under Secretary General of the United Nations Department of
Global Communications towards the expansion of usage of the Hindi language in the United Nations?
Answer : Option Id

(A) Shri Narendra Modi

99001
(B) Shri Amit Shah 99002
(C) Ruchira Kamboj 99003
(D) S. Jaishankaran 99004
Right Answer : Right Option Id : 99003
Ruchira Kamboj
Question 77 Question Id :

Which team of NCRB has recently won the Gold award under the Excellence in Government Process Reengineering for Digital Transformation Category-1
of the Department of Administrative Reforms and Public Grievances?

Answer Option Id
(A) CCTNS (Crime and Criminal Tracking Network and System) 98001
(B) NAFIS (National Automated Fingerprint Identification System) 98002

FICN (Fake Indian C Notes Syst:
(@) (Fake Indian Currency Notes System) 98003
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(D) FACS (Fired Arms Coordination System)

98004

Right Answer : Right Option Id : 98002

NAFIS (National Automated Fingerprint Identification System)

Question 78 Question Id :

Name the international organisation that recently adopted resolution introduced by India to establish memorial wall to honour fallen peacekeepers.

Answer : Option Id

ited Nati I A: bl

(A) United Nations General Assembly 97001
The | i 1 P Insti

(B) The International Peace Institute 97002
The Int ti I P ity Institut

(C) The International Peace and Security Institute 97003
African P d Security Architect

(D) African Peace and Security Architecture 97004

Right Answer : Right Option Id : 97001

United Nations General Assembly

Question 79 Question Id :

Recently, NCGG has successfully trained which batch of civil servants from Maldives to champion equitable education for all?

Answer : Option Id
25th

w2 96001
24th

® 96002
26th

©26 96003
2gth

(D) 96004

Right Answer : Right Option Id : 96002

24th

Question 80 Question Id :

The International Conference on Green Hydrogen-2023 (ICGH-2023) has been held for three days at which among the following places by the Government
of India?

Answer : Option Id
(A) Centre for Science and Environment, New Delhi 95001
(B) Ministry of Earth Science, New Delhi 95002
(C) Vigyan Bhavan, New Delhi 95003
(D) Technology Bhavan, New Delhi 95004
Right Answer : Right Option Id : 95003
Vigyan Bhavan, New Delhi

Question 81 Question Id :

Who founded Theosophical Society in India?
Answer : Option Id
(A) Madam Blavatsky & Henry Olcott

94001
(B) A O Hume 94002
(C) Madam Cama 94003
(D) Shyamiji Krishna Varma 94004
Right Answer : Right Option Id : 94001

Madam Blavatsky & Henry Olcott

97

96

95

94



Question 82
The Study of Moon is Called__.
Answer :

(A) Selenography

(B) Moonology

(C) Lunarlogy

(D) Climatology

Right Answer :
Selenography

Question 83
Who is referred to as the "Father of the Lok Sabha"?
Answer :

(A) G V Mavalankar

(B) Balram Jakhar

(C) P ASangma

(D) Rabi Ray

Right Answer :
G V Mavalankar

Question 84
India’s largest floating solar plant is located in which of the following states of India?
Answer :

(A) Andhra Pradesh
(B) Karnataka

(C) Tamil Nadu

(D) Mizoram
Marks Given to All Candidates
Question 85
Find the correct statement with respect to the preamble of Indian Constitution.
Answer :

(A) The preamble has not been amended ever.
(B) The preamble has been amended only once in 1976.
(C) The preamble has been amended twice in 1971 & 1976.

(D) The preamble has been amended thrice in 1962, 1965 & 1971.

Right Answer :
The preamble has been amended only once in 1976.

Question 86

Question Id :

Option Id

93001
93002
93003

93004

Right Option Id : 93001

Question Id :

Option Id

92001
92002
92003

92004

Right Option Id : 92001

Question Id :

Option Id

91001
91002
91003

91004

Question Id :

Option Id

90001
90002
90003

90004

Right Option Id : 90002

Question Id :

93

92

91

920

89


P.mayur
Typewritten text
Marks Given to All Candidates


The Uri Dam is constructed on the Jhelum River at which among the following states/UTs?
Answer :

(A) Jammu & Kashmir
(B) Andhra Pradesh
(C) Madhya Pradesh

(D) Arunachal Pradesh

Right Answer :
Jammu & Kashmir

Question 87
The meaning of “social equality” in the Indian Constitution is:

Answer :

(A) Equal opportunities for all sections of the societies
(B) Equal chance to women only
(C) Partiality towards Elite class

(D) No effort should be made to modify the existing system

Right Answer :
Equal opportunities for all sections of the societies

Question 88
“The Pashupati Seal” is found from site of Indus Valley civilization.
Answer :

(A) Mohanjo-daro

(B) Banwali

(C) Kalibangan

(D) Lothal

Right Answer :
Mohanjo-daro

Question 89

What is laughing gas?
Answer :

(A) Nitrogen dioxide

(B) Nitrogen Sulphide

(C) Nitrous Oxide

(D) Nitrogen peroxide

Right Answer :
Nitrous Oxide

Question 90
Which State of India does not touch any international boundary?
Answer :

(A) Sikkim

(B) Arunachal Pradesh

Option Id

89001
89002
89003

89004

Right Option Id : 89001

Question Id :

Option Id

76001
76002
76003

76004

Right Option Id : 76001

Question Id :

Option Id

87001
87002
87003

87004

Right Option Id : 87001

Question Id :

Option Id
86001

86002
86003

86004

Right Option Id : 86003

Question Id :

Option Id

85001

85002
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(C) West Bengal

(D) Telengana

Right Answer :
Telengana

Question 91
The very first ruler to preach the Dhamma principles was?

Answer :
(A) Ashoka

(B) Chandragupta Maurya
(C) Bimbisara

(D) Chandragupta Il

Right Answer :
Ashoka

Question 92
The Magna Carta refers to which part of the Indian Constitution?
Answer :

(A) PartV

(B) Part Il

(C) Part IV

(D) Part 1l

Right Answer :
Part 11l

Question 93
IMPS stands for. in context with electronic fund transfer.
Answer :

(A) Internal Money Payment System

(B) Immediate Payment Service

(C) Immediate Money Payment Service

(D) Internal Machine Payment System

Right Answer :
Immediate Payment Service

Question 94

Which of the following natural elements is the primary element in computer chips?

Answer :

(A) Silicon

(B) Carbon

(C) Iron

(D) Uranium

85003

85004

Right Option Id : 85004

Question Id :

Option Id

84001
84002
84003

84004

Right Option Id : 84001

Question Id :

Option Id

83001
83002
83003

83004

Right Option Id : 83002

Question Id :

Option Id

82001
82002
82003

82004

Right Option Id : 82002

Question Id :

Option Id

81001
81002
81003

81004
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Right Answer :

Silicon

Question 95

Unsent emails are automatically saved in .

Answer :
(A) Inbox

(B) Draft

(C) Sent

(D) Spam

Right Answer :
Draft

Question 96

Which of the following places is famous for a traditional art of embroidery Chikankari work?

Answer :
(A) Hyderabad

(B) Lucknow

(C) Jaipur

(D) Jodhpur

Right Answer :
Lucknow

Question 97
The Sikh religion was established by .
Answer :

(A) Guru Arjan

(B) Guru Gobind Singh

(C) Guru Tegh Bahadur

(D) Guru Nanak Dev

Right Answer :
Guru Nanak Dev

Question 98

Which Governor General of India established the Indian Postal Service?

Answer :
(A) Lord Minto

(B) Robert Clive

(C) Robert Lara

(D) Lord Dalhousie

Right Answer :
Lord Dalhousie

Right Option Id : 81001

Question Id :

Option Id

80001
80002
80003

80004

Right Option Id : 80002

Question Id :

Option Id

79001
79002
79003

79004

Right Option Id : 79002

Question Id :

Option Id

78001
78002
78003

78004

Right Option Id : 78004

Question Id :

Option Id

77001
77002
77003

77004

Right Option Id : 77004
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Question 99

The first Indian Astronaut to go in space was .

Answer :
(A) Rakesh Sharma

(B) Vikram Sarabhai

(C) Yuri Gagarin

(D) Ravish Malhotra

Right Answer :
Rakesh Sharma

Question 100

Question Id
Option Id
88001
88002
88003

88004

Right Option Id : 88001

Question Id :

Which among the following is the highest peaks of the Western Ghat that is also the UNESCO-World Heritage Site with rich biodiversity?

Answer :
(A) Anamudi

(B) Meesapulimala

(C) Kodachadri

(D) Kolaribetta

Right Answer :
Anamudi

Option Id

100001
100002
100003

100004

Right Option Id : 100001
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